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SOLUTION The given equation is of the form x2= 4ay, whereda =6,ie.,a= 5

So, this is a case of upward parabola. i

Its focus is F(0, a), i.e., F([}, %) . TY

TF
Its vertex is O(0, 0).

The equation of the directrixis | —
. -3 . X’ o X
y=-a,ie.,y =?,1.e., 2y + 3 =0.

— -

2y+3=0

Its axis is y-axis, whose equation Ly

isx=0. Y

Length of latus rectum = 4a = (4 X %) units = 6 units.

EXAMPLE 4 Find the coordinates of the focus and the vertex, the equatiqisyof the
directrix and the axis, and length of latus ?‘t’Cf‘H&@f abola

x’ = -16y. esa\

SOLUTION The glven equation is of th

o ROy Ft 10
P(é’r}gom Oﬁﬁ@e =

Y

Its focus is F(0, —a), i.e., F(0, —4). - O] .
Its vertex is O(0, 0). X’ X
The equation of the directrix is le

y=a,ie.,y=4.

Its axis is y-axis, whose equation Y’

isx =0. ‘

Length of latus rectum = 4a = (4 x 4) units = 16 units.

EXAMPLE 5 Find the equation of the parabola with focus at F(3, 0) and directrix
x =-3.



